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Chapter 8 Word Problems
Solving by Factoring
Example 1 let x= +he 3=

The product of twice a number and three less than the
numberis 0. Find the number.

(w2 = hvmber
2x=0 X-%=0 or 3
2 2 +3 +%
X=0 X=5
Example 2 Lot x =lst mt. X+1=2nd nt

When one integer is added to the square of the next
consecutive integer, the sumis 1. Find the integers.

D2 ¥ x=0,
X + (x}:?L 4 o |
X + ><2+zx+f"’ \1 @
i3k = O £ x= =5,
_A(?("‘S)a O —:henm—l—_—_z.
X=0  X+5=0 ~3%2
~% 4

X=-%
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Example 3 h=—l6t*+vt +s

A flare is Iaunched from 3 Iffe raft with an |n|t|g| upward
velocity of 192 feet per second. How many seconds will it
take for the flare to return to {he Sea? Use the vertical
motion model to write an equation and solve.

O ==16+*+1924
bttt + 12)

6t =0 —t+12=0

T ,T =z 12
M -t ==l2
-1 |
54:;'4' =
problem 12 Sec |

~E'-=-.—¢z+><
Example 43-»&; t‘

A rectangular photograpﬁ is 8 centimeters wide and 12 centimeters
long. The photograph is enlarged by increasing the length and
width by an equal amount. If the area of the new photograph is 69
square centimeters greater than the area of the original
photograph, what are the dimensions of the new photograph?
orfgs#al F 61 = hew =g
?°12 Joix =< |5
06 + ¢q =(2(8+x)o) 8ix=))

165 = )+ 12X + BX + X2
—:(95 -5 T

= X2 4 20x— 09

he O C__\)(X*Z%

ho wea.
’(*5 R Tongitt

[15om by ch‘)]
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Example 6 h=—1et*+vE+ S

A missile is fired with an initial upsvvfatr)d velocity of 2350 feet
per second. When will it reach an altitude of 40be0 feet?
Use the vertical motion model to write an equation and

solve. 4o,000 = —1066* + 2320+
— 4p, 000 —Uo,000
S-S p2s80 0 = —let? + 2320t — 40,000

ST T =—Jp (& - [45¢ + 2500D)
0 =-1b@Z-129(-20)
1-125=0 t-20=0

125 sec & 20 seq,
Example 7 let x=\st int  Levr R+1=2nd ingk.
Find two consecutive integers whose product is 240.
X (x+1) = 240 e x=—16,
then X4)1= -\S,
X* 4+ X = 26D
—24  -240 [~ &-15)
Xt +x—=2H0=10
K x=15
(% +16(x=15)=D fhen x+1= 1
X+l=0 X-I5=D 15 & 15

X==16 =[5
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